



Vendor Ranking

Page 1 of 1

05220907 Letting:

September 07, 2022 02:00

Call Order: 007

Contract: E5X40

PM

District 5

Counties: LAKE

Fed Aid No: N/A

District:

Contract Time: 120 CALENDAR DAYS

Project(s): 42917627218 (*)

Contract Desc: Drainage Repair

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TIMOTHY ROSE CONTRACTING, INC.	Responsive	Winning bid	\$519,216.00	100.00%
2	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$544,510.00	104.87%
3	ALROD LOGISTICS, INC.	Responsive	Non-Winning Bid	\$613,050.00	118.07%
4	GULF COAST UNDERGROUND LLC	Responsive	Non-Winning Bid	\$2,050,610.55	394.94%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 6

Letting:05220907September 07, 2022Call Order:007Contract:E5X40District:District 5Counties:LAKEFed Aid No: N/A

Contract Time: 120 CALENDAR DAYS Project(s): 42917627218 (*)

Contract Descr: Drainage Repair

FDOT District 5

Proposal ID No.: E5X40

Financial Project No.: 429176-2-72-18

Fiscal Year: 2023 County: Lake

Contract Calendar Days: 120

Lead Time: 14 Days

This is a Maintenance Pay Item Contract.

Intent:

The work under this contract consist of desilting, video, pipe lining, pipe removal and replacement at various locations in Lake County.

Experience:

For this Contract the Contractor is required to have at least three (3) years of experience in the performance of drainage repair, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Drainage" will suffice to meet the above requirements.

Line No / Item ID Alternat	te Quantity Units	(1) TIMOTI CONTRAC		(2) SHENANDO CONSTRUC		(3) ALROD LO	OGISTICS, INC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(L	.F			
0005 0101 1 MOBILIZATION	(1.000) LS	12,500.00000	12,500.00	5,000.00000	5,000.00	15,000.00000	15,000.00
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	7,000.00000	7,000.00	10,000.00000	10,000.00	5,000.00000	5,000.00
0015 0104 11 FLOATING TURBIDITY BARRIER	110.000 LF	16.00000	1,760.00	1.00000	110.00	25.00000	2,750.00





Tabulation of Bids

Page 2 of 6

Letting:	: 05220907	September 07	, 2022 Ca	II Order: 007		Contract:	E5X40	
	No / Item ID Alternate Description	e Quantity Units	(1) TIMOT CONTRAC		(2) SHENANDO CONSTRUC		(3) ALROD LO	OGISTICS, INC.
() indic	cates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(REPAIR/REPI	ACE STRM-SIDE	-CROSS DRAIN(L	-F			
	0110 1 1 IG & GRUBBING	(0.200) AC (LS)	2,500.00000	2,500.00	10,000.00000	10,000.00	5,000.00000	5,000.00
0025 EMBANK	0120 6 (MENT	100.000 CY	30.00000	3,000.00	20.00000	2,000.00	125.00000	12,500.00
DRAINAG	0430 96 GE PIPE REPAIR- CONCRE AT JOINT	1.000 ETE EA	1,250.00000	1,250.00	2,500.00000	2,500.00	2,500.00000	2,500.00
	0430174118 LVERT, OPTIONAL MATER 18"SD	138.000 RIAL, LF	82.00000	11,316.00	195.00000	26,910.00	175.00000	24,150.00
	0430984125 D END SECTION, OPTION <i>A</i> 18" SD	2.000 AL EA	1,100.00000	2,200.00	3,100.00000	6,200.00	2,000.00000	4,000.00
	0530 3 4 RUBBLE, F&I, DITCH LININ	10.000 NG TN	100.00000	1,000.00	205.00000	2,050.00	500.00000	5,000.00
0050 BEDDING	0530 74 3 STONE	2.000 TN	60.00000	120.00	120.00000	240.00	500.00000	1,000.00
	0570 1 2 MANCE TURF, SOD	120.000 SY	5.00000	600.00	4.00000	480.00	25.00000	3,000.00
	E431 1 21 ER, CURED IN PLACE, 0-2	4,330.000 4" LF	99.00000	428,670.00	101.00000	437,330.00	115.00000	497,950.00



09/16/2022

Tabulation of Bids

Page 3 of 6

Letting:	05220907	September 07,	2022 Ca	II Order: 007		Contract:	E5X40	
Line No / Item ID Alternate Quantity Item Description Units		(1) TIMOTHY ROSE CONTRACTING, INC.		(2) SHENANDOAH GENERAL CONSTRUCTION, LLC		(3) ALROD LOGISTICS, INC.		
() indicates iten	n is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	ON: 0001	(REPAIR/REPL	ACE STRM-SIDE	-CROSS DRAIN(L	F			
0065 E431 1	22	220.000	215.00000	47,300.00	189.50000	41,690.00	160.00000	35,200.00
PIPE LINER, CUI	RED IN PLACE, 25-	36" LF						
	EPLACE STRM- S OSS DRAIN(LF)	ection Totals:		\$519,216.00		\$544,510.00		\$613,050.00
	Contract G	rand Totals:		\$519,216.00		\$544,510.00		613,050.00





Tabulation of Bids

Page 4 of 6

Letting	g : 0	5220907	September 07,	, 2022 Ca	II Order: 007		Contract:	E5X40	
	No / Item ID	Alternate	Quantity Units	(4) GULF UNDERGR					
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(REPAIR/REPL	ACE STRM-SIDE	-CROSS DRAIN(L	.F			
0005 MOBILI	0101 1 ZATION		(1.000) LS	50,000.00000	50,000.00				
0010 MAINTE	0102 1 ENANCE OF T	RAFFIC	(1.000) DA (LS)	87,500.00000	87,500.00				
0015 FLOATI	0104 11 ING TURBIDIT	Y BARRIER	110.000 LF	71.67000	7,883.70				
0020 CLEARI	0110 1 1 ING & GRUBB	ilNG	(0.200) AC (LS)	5,000.00000	5,000.00				
0025 EMBAN	0120 6 IKMENT		100.000 CY	448.29000	44,829.00				
	0430 96 AGE PIPE REF R AT JOINT	PAIR- CONCRE	1.000 TE EA	7,457.09000	7,457.09				
	0430174118 ULVERT, OPT D, 18"SD	IONAL MATER	138.000 IAL, LF	604.06000	83,360.28				
	0430984125 ED END SECT D, 18" SD	ION, OPTIONA	2.000 L EA	6,195.19000	12,390.38				
0045 RIPRAF	0530 3 4 P, RUBBLE, F&	&I, DITCH LININ	10.000 IG TN	1,408.10000	14,081.00				





Contract Grand Totals:

Tabulation of Bids

Page 5 of 6

Letting:	05220907	September 07,	2022 Cal	I Order: 007		Contract:	E5X40	
Line No / Item Item Descripti		Quantity Units	(4) GULF UNDERGRO					
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(L	.F			
0050 0530 74 BEDDING STONE		2.000 TN	125.00000	250.00				
0055 0570 1 : PERFORMANCE :		120.000 SY	44.73000	5,367.60				
0060 E431 12 PIPE LINER, CUR	21 ED IN PLACE, 0-24	4,330.000 E" LF	334.93000	1,450,246.90				
0065 E431 1 2 PIPE LINER, CUR	22 ED IN PLACE, 25-3	220.000 66" LF	1,282.93000	282,244.60				
	EPLACE STRM- SE OSS DRAIN(LF)	ection Totals:		\$2,050,610.55		1		

\$2,050,610.55



09/16/2022

Tabulation of Bids

Page 6 of 6

Letting: 05220907

September 07, 2022

Call Order: 007

Contract:

E5X40

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.